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Name ______________________________

Short answer questions/problems

1.  A friend says that she has heard that in business there is something called a shelf registration.  Your friend states that she can’t believe business people are so obsessive that they register all of their shelving.  Explain in to your friend (in one sentence) what a shelf registration is.
2.  The firm you work for is considering whether or not to become publicly owned by issuing common stock for the first time.  What are two disadvantages of being publicly owned?

3.  Which of the legal issues discussed in the notes actually limit the amount of dividends a firm can pay?
4.  When we examine actual evidence of how stock prices react to announcements of unexpected increases in dividends, what do we find?
5.  According to the signaling theory of dividends, what does management consider when setting the current dividend?
6.  According to studies of actual firms, what do we know about the size of financial distress costs?
7.  According to the Pecking Order Theory, what is a firm’s preferred source of funding?
8.  When Modigliani and Miller examine how capital structure decisions are irrelevant if capital markets are perfect, they discuss how stockholders should be indifferent to a firm’s capital structure because they can undo a company’s leverage.  How can stockholders to undo a company’s leverage?

Problems/Essays

1.  
Despite announcing lower first quarter profits on May 9th, Loews Corporation stated that it intends to go ahead with a repurchase of 19 million of its 190 million total shares outstanding.  The firm will repurchase the shares for $82.50 per share which is a substantial premium to their current stock price of $60 per share.  Assume you are Preston Tisch who is Co-chairman of the board and who owns 30 million shares of Loews’ stock.

a.  What will happen to the price per share of Loews’ stock after the repurchase (assuming nothing else changes)?

b.  Assume that the firm decides to repurchase the shares via a tender offer.

1)  How many shares can you (Preston Tisch) offer to sell back to the firm?

2)  How will your wealth be affected by this repurchase if a total of 152 million shares are offered to the firm by existing stockholders?  Assume you act in your own best interest.

c.  Now assume that the firm repurchases the shares by using transferable put rights in which the firm issues one put per outstanding share.

1)  If you decide to sell your puts, how much total cash should you be able to get for selling them?

2)  If you decide to exercise your puts, how much total cash will you receive for the shares you sell?

2.  Miller and Modigliani find that if capital markets are perfect, and if investors have homogenous expectations, and if the firm’s investments have been optimally fixed, and if any surplus cash has been paid out to stockholders, then stockholders should be indifferent to whether or not the firm pays an additional dividend.  Explain why stockholders should be indifferent to a dividend under these conditions.

3.  Given our discussion in class, what impact does the issue of risk (or uncertainty or volatility) have on a firm’s optimal capital structure?  Explain.
4.  In what way or ways do conflicts of interest within the firm impact on the capital budgeting decisions managers make?
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5.  WorldCom is considering undertaking a new fiber-optic project as a part of its reduced (but still sizable) $4.5 billion capital budget for 2002.  As a part of the process of deciding whether to undertake the project, the firm needs to estimate the risk that the firm would face if it undertook the project so that it can determine the required return on the project.  What is the project’s beta given the following estimates of the returns on the new fiber-optic project?

Return on:  

State of economy
Probability
Project
S&P500
T-bills
Strong rebound
.25
42%
36%
1.71%
Slow recovery
.45
18%
12%
1.71%
Another downturn
.30
-12%
-4%
1.71%
6.  Enronderson Inc. is considering whether or not to build a new factory to manufacture industrial strength shredders.  The cost of the factory will be $100,000, will have a life of 10 years, and will generate a positive net present value of a $15,000.  This project will be added to existing assets which have a market value of $300,000 and an 8-year life. The project will be funded with $10,000 of surplus cash, by issuing bonds that mature 5 years from today for $150,000, and by issuing equity.  Note that these new bonds are in addition to the firm’s outstanding debt which matures in 5 years for $400,000.  The standard deviation of returns on the project is expected to be 64%.  While this is significantly higher than the standard deviation of returns on the firm’s existing assets at 53%, low correlation between the project and the firm’s existing assets leads to an overall standard deviation of return on the firm of 54% after the project is undertaken.  The APR (assuming continuous compounding) on US Treasury securities depends on maturity as follows:  1-year = 2.29%; 5-year = 4.66%; 8-year = 5.11%; 10-year = 5.56%.
If we view common stock as a call, what is the value of Enronderson’s stock after the project is undertaken?

7.  Electron Arts Inc. is considering investing in a new factory to manufacture CDs for it PS2, X-box, Gamecube, and PC games.  Because EA has become fairly settled in the gaming industry, EA estimates that the standard deviation of returns on the factory will only be 43% rather than the 59% on EA’s existing assets.  Similarly, EA estimates that the beta of the new project will only be 1.25 rather than the 1.3 on its existing assets.  Four months ago, EA bought land in anticipation of the plant for $90,000.  Today, this land could be sold for $100,000 (after taxes).  The factory itself can be build at a cost of $500,000 today and $700,000 six months from today.  The factory is expected to generate a net, after-tax cash flow of $110,000 ten months from today.  After this initial cash flow, the factory is expected to generate equal quarterly cash flows through five years and seven months from today.  The risk-free rate is 1.46% and the market risk premium is 6.4%.  What is the impact on the value of the EA of building this factory?
